EANRAROBESIFRT — 2 N—ZABISH—F 2016528298 (A) 13@)IIz1H

Nl 52— C2TAN B IR
[x&<£] 1 % :1,000,000 @ ~ 23 :300,000 M ~ 337 :180,000 @ ~ 4 3 :120,000 M ~ 5 7 :100,000 M
B B BEBR M HE BF (FE) g4 L (&%) | BBIER | EOF SR | AR | HhE | BRE (FIR) / BE / £ERS
- N SFEE .45, o o . — BRE=E (115)
11111 IyFx—RuyH— 4 5 ?6.0 1(4_5)2 8-8-6-5 | 40.3 1 (4_530) s
L:hIHLTANVE BE—Frvia T—=IWRT7—L
S 5 5 | WHEE 1:45.8 6-6-3-4 |41.1| — 4 FEAEE (Ef)
2|58 | NIEZXRFAB i 54.0 3) ° (_330) TR 2 (#%)
L:g4=/FXLLy b B:RE2—U—F1 b NIVEL RN T7—L4
i 4 4 | EEKREH 1:45.8 2-2-2-1 | 41.4| — 4 492 | NEBE (11E)
3 10| TIVTI—R 54.0 (hF) Lo |EWTIZ
LFFHRTFFLT BiaAFKE—T =¥ Ty —L
. SEER . 10-12— — SHAEF (J1]1%)
4 3|51 G P A 4 4 T 1.(436).5 10-10-12-8 | 40.8 5 (3_935) Sinagi
R:vY¥/ by THY BRYIRZAAT Eld=t e ]
H S 4 5 | AHEE 1:46.6 9-9-9-7 |41.2| — 10 | 443 | FARIGEE (1)
5\7|12( 71 ~%7 54.0 (172 Lo | dBE=
L:Yrh—>r B:LFs—UF14ZXb [EES=Y]
gy = # o6 | REAS 1:46.6 12-12-11-12| 40.9 | — 9 492 | IVMAEIA (AEFN)
6l5|7|7vFAO- 5.0 (7t o) | BRI
- BT tENk—T BESHD X VS
3 o : 4 6 | WiBETL 1:46.8 11-11-13-10| 41.0 | — 7 456 | FIUES (EFD)
718l13 #1770 =K 54.0 a (-g) | At
T2 80 BNgdZToA R HET7— L
v e > HEt : 44— = EREtEAR (1)
LYz KT R inc S Il el Bl N WA b
XL THANAN B:T)VEIXZ— T2 NG
s [N ipE ] 146. —7-7- . — EEHE GEf)
F—S_F TS5 o6 o 1(14/62)9 7-7-7-6 | 41.7 6 (4_888) e
L:7A7% B:4—-Y—kvlL 2 e ]
= . E1-EIN 146. —12-8~ . — NEHE— (D)
A5 4 —E—L % 5 2530 1(/4\13_5)) 13-12-8-8 | 41.4 13 (4_:; s
LT RIAY T 0/I8 BRFHARFIAHEA =i tie
35 # 5 | BHE 1:47.1 1=1-1-1 | 42.8| — 12 429 | /MARE (EFD)
IZUIEMEX 54.0 (3/4) 4e) M) AYE-—L—vrTEa
LihINZ— B EF B# L
. BAER : -14-14- = BEEET (GEF)
ZENT T 4 6 56.01_ 1.(430 14-14-14-13| 42.0 14 (4_797) %ﬁ#ﬁ?T
L:v RKYIYRIZX B:AOv>RAED— [ ZE AN
o3+ 4 5 | BEEX 1:48.0 4-5-4-11 |43.3| — 8 | 496 |HATEX (1)
- 56.0 (75%) gy | EEEE
RYIRG4 TSR BTS04 BE%S
S Dy e, F. Ry :50. -3-10- . = S (1iE
S A=Ay 4 4 0 Y (155;)*’9) 3-3-10-14 | 45.0 1 :ﬁsg) ﬁg;}:
R:E>r/0704 B:vRx—F+v>bMN13I-57 =Y Typ—L
® 1—F—@EBIERL
1T=7r= 6,10,9,14,4,8,5,1,12,3,13,7,11,2
2a=5F= 6,10,9,4,14,8,5,1,12,3,13,(7,11) ,2
Ja=5= 6,10,8, (4,14) ,1,5,11,12,9,7,3,13,2
43—+ — (6,10),4,8,1,5,12,(3,11),13,14,7,2,9
[ /N
B 1 320M 714K 1-8 540M e E 1-5 1,070M JEE 1-8-10 1,560
B B 1 140M 1-10 320M e B 19 1,800 EH 1-8-10 7,270
8 1504 8-10 370M B & 1-8 1,310
10 160 B HE 1-8 2,470

ABICOVWTRDTEEERROODE. TR LIV,



